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| Semester B.Com. Examination, October/November 2012
(Semester New Syllabus) (2012 — 13 & Onwards)
COMMERCE
1.4 : Market Behaviour and Cost Analysis

Time : 3Hours Max. Marks : 100
Instruction : Answer should be either exclusively in English or exclusively
in Kannada.
SECTION-A
NI - D
1. Answerany 10sub-questions. Each question carries 2 marks. (2x10=20)

ARITEER 10 BBIREr GuZo%. B BI2 08N,

a) Define law of supply.
TPYE QOB YT Ve,

b) What is demand schedule ?
et dééd QOB ?

c) State how a firm differs from an industry.
WOT #o%om et 20T FTPOBOO0T WTTONT.

d) What is meant by time value of money ?
TROS BT m’@e% QOVTIT LT 330 9

e) What do you mean by implicit cost ?
283 ﬁai QOOTIT 9B ?

f) State the meaning of Break-even point.
RBILIETIB WO DOLDTT LI WTOR0.

g) What is dual pricing method ?
B, T0R T3S 20T ?

h) What is linear programming ?
DEACIT? TR, TN DOTIBERD 9

P.T.O.
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i) Write the meaning of weighted average cost of capital.
ROT, FTORO WOBIOY 23 OWOTT L WHCWO.

j) A project needs an investment of ¥ 44,00,000 with annual cash inflow of
¥ 2,20,000 for 25 years. Find pay back period.

20830 03Re%IT ¥ 44,00,000 BRRE 60 L3S, VLIV TOXFT SN WIH0Y
dr. 2,20,000 25 SRR 9% DRI, T3 DTN Colaleree)
FOBIEROD.

k) The earning per equity share is ¥ 27 and its current market price is ¥ 180.
What is the cost of equity ?

T 3003 NPER 27 T AOe3), SeOS Rvet 3¢ X 180 BT AP Beds ﬁ% ?

[) What is penetration pricing ?

363136 Homsed ?
SECTION-B
IR -V
Answer any four questions. Each question carries 8 marks. (4x8=32)

CIRRYTRAR TR, BIRET P00, BS BIB oBred

2. Explain how wealth maximisation objective varies from profit maximisation
objective.

ROTLY ORI emc:'»’@eé@ R BTRPBE NTEBDOT BEN @Q{mﬁd ? QWOR.

3. What is total outlay method ? Determine price elasticity of demand from the
data given below adopting total outlay method.

2830 3523, ﬁ%@ DOTTE 7 243) 3, eﬁ%@@iﬂi VTOIRENRBROT BRINS LI o

;‘o%adézgﬁﬁﬁgt QG OR.
Price Quantlty Demand
3e3 WeRE JTRED
) (in units I3 PuENYA)
A 8 900
10 2 10650
12 450
B 8 625
10 525
12 475
C 8 750
10 600

12 500
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4.

From the under mentioned data determine trend values and estimate the demand
for 2013 and 2014 by method of least square.

37 IDROATI I98ECI0T Lo Best0 BRPENTI), FOTRBOWO Tore 2013
R 2014 Se R Weid %ESJQsadab 5:335565‘ Shod O * AT CRIDRR LIOTTDTIETOR.

Year (Sx¢) 2007 2008 2009 2010 2011
Sales (s0oow) (‘000) 120 140 145 170 200
What is meant by pricing policy ? Briefly explain the factors influencing pricing policy.

236 Qed womdesd ? B3 Ded AT ORI NG LOBNTR) FOETN IO

From the data given below you are required to compute TVC, TFC, TC, AVC,
AFC and MC.

3980w &S on TVC, TFC, TC, AVC, AFC onsMC n’vﬁdgt BOBORBOWD.

Output (in units) 1 2 3 4 9 6 7 8
oSS (Peznsd)

AFC (%) - - - - - - =00 75
AC (}) 900 720 400 240 270 300 325 375
SECTION-C
YWIN - A

Answer any three questions. Each question carries 16 marks. (3x16=48)
O3RN TORTR SORTD @’%ﬁ@ﬁ NUZOR. B3 Euj%ﬁ 16 908N,

Vi

State and explain types of elasticity of demand. State the established
advertisement cost and derived demad relationship.

23e8% %@m@d&;d _ﬁ)@tﬁr{%faigt BT DROR TN 0TSO dzgj =03 ﬁcﬁzi%é’ e
:-dowoqﬁrf@ﬁ:‘dg{ QBRR

. Write notes on the following :

BISNSRNG Wi wﬁweéﬁ%*aig{ B0
a) Target rate pricing
MDA 3¢
b) Transfer pricing
TIFRIAT B
¢) Dumping
TOQOTY
d) Price leadership.
WS Soooeve,



0S-298 4 A

9. The data given below belongs to Shah and Co.
FPNS B Tox® 08) Fo. it f-‘o’owo@f%d%s
Sales (units) SRooes (F638M%) 320,000

Fixed cost (AT 33) ¥ 56,000
Variable cost (20c5enmss m@ 21,20,000
Sales (»oow) 32,40,000
Calculate (30@2%a000) :

i) P/V ratio, BEP and margin of safety
R/ T WE0es, BBOLPEEB 20T, :-a’adg 0L TeRED

ii) Sales to earn a profit ofZ 90,000
¥ 90,000 coyngmes snooed TR

iii) Profit when sales was ¥ 5,00,000:
SR 5,00,000 et €235 TRIDED.
10. Afirmis considering the purchase of machine X forz 4,00,000. From the following
data compute
a) Payback period and
b) Net present value and suggest the firm. -
W00 ﬁoﬁ@oﬁwx Qiao‘_é)aﬁdgt ¥4,00,000 @mmﬂw WOBAT. BEFOR 39&SC000T
a) Sooone? @waocbaigt TR
b) Q¥ TR BB Bomadercsd Fosirt ROTOR) Ve,

[e]

Year 1 2 = 4 5
(S=F)

Net cash inflow 40,000 1,20,000 1,60,000 240,000 1 ,60,000
NI TN LT

Discount factor @ 10% 0.91 0.83 0.75 0.68 0.62

The scrap value of the machine at the end of 5 years will be ¥ 40,000.
ODOBT 5 BRFNT ToZTH 0TI 2365 40,000,




